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TASK1 (FROM CAMBRIDGE 7 TEST4)

The pie charts below show units of electricity production by fuel source in
Australia and France in 1980 and 2000.

Summarise the information by selecting and reporting the main features, and
make comparisons where relevant,

Write at least 150 words.
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The amount of electricity which was produced by five different sources of fuel, in two
nations, over two separate years, is shown en-in the charts. It is plain to see that the
total electricity increased considerably both in Australia and France over this period.
[You could mention that France uses more power than Australia and that only France
uses nuclear-power]. Sometimes it might be worth having two key points to your
overall summary. The overall summary is THE most important part -if you can

impress with this it is a good way to get to seven for task response

In more detail, in Australia, the largest amount of electricity Mas produced using coal,
rising-te— from exactly 130-e¥— to 170 units of electricity-+— from 1980 to 2000.
Similarity, nuclear power became the most important fuel source in France in 2000,

producing 120 of 180 unit electricity.

Hydro power accounted for approximately one fifth of the total energy in Australia in
both years, but the figures in France dropped from 5 units in 1980 to 2 units in 2000.
Similarity, around a quarter of the electricity produced using natural gas in both
countries in 1980, but its use fell to 2 units in both countries in 2000. Both countries

relied on oil more in 1980 than in 2000, decreasing to 2 units in both.

Comment [z1]: Passive needed

Grade Estimated

Criteria Grade

Task 6 Good overall summary




response

I don't feel you covered the highlights enough, admittedly this is a difficult task
because there is so much data - see below

Cohesion 6 I would structure this by country because:
and 1. you get two logical body paragraphs
coherence 2. Ithink you would get through the data better
3. it would be quicker to write because you wouldn't have to keep jumping
around and looking at all the different categories in each of the pie charts

Vocabulary 7 There is a lot of tasks about energy note:

electricity = energy, power

produced= generated

oil = petroleum

natural gas= gas
Grammar 6-7 Lots of minor errors
overall 6-6.5 This is a difficult task. Try to structure by the fewest of countries time periods and

categories. If you see there is lots of dates are then you know you have to be careful
selecting it -in order to complete your report on time. Put more emphasis on your task
two because it is worth double the task one - | would consider writing task two first.
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